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Al A

A= EEHS2 2M 230
M 2olsAg S (2o 2/ 250=)
telr NS85 (St &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K & A HusZ
ZeAEH=E= 486,002,386 483,123,209 2,819,177
= 94,015,100 92,964,620 1,080,480
= 16,276,000 16,226,000 50,000
Pl 58,895,876 57,843,076 1,052,800
= 316,815,410 316,089,513 725,897
E3t0ll =2t 81,359, 144 79,740,294 1,618,850
= 8,514,985 8,154,985 360,000
| 16,282,230 16,282,230 0
[ 56,561,929 55,303,079 1,258,850
20 sAGE (2L 2/ 25H0=) 79,804,652 78,175,822 1,628,830
= 8,514,985 8,154,985 360,000
Pl 16,282,230 16,282,230 0
= 55,007,437 53,738,607 1,268,830
|92t d ek 33,534,234 32,988,274 545,960
= 1,738,050 1,478,050 260,000
| 16,282,230 16,282,230 0
[ 15,513,954 15,227,994 285,960
2SI HALKIR 1,985,660 2,050,700 65,040
308 ARISHSO0IH 1,667,660 1,732,700 65,040
01 MK N ELS 1,667,660 1,732,700 AB5,040
ORI 2SS ALKIZ
ZE 275,960,000 275,960 299,000 A23,040
OdsS2stHsLdRH
2 294,100,000 294,100 313,100 19,000
XIS E528H ALK A
&3 223,600,000 223,600 229,600 26,000
OX eIt Hot=2 3t A= R
Z& 48,000,000& 48,000 65,000 A17,000
SISl SES 7,122,000 6,872,000 250,000
306 EH= 5,850,000 5,600,000 250,000
01 &gz 5,850,000 5,600,000 250,000
O()e==srsd2g X2
&% 5,650,000,000& 5,650,000 5,400,000 250,000
N2t 8dst 761,000 738,000 23,000
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04 QIZHHAIAIH 2 £ 155,000 132,000 23,000
O 25el=sstotg X2
Z& 100,000,000 100,000 77,000 23,000
sarlee 338,000 0 338,000
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308 XXM SOOI 338,000 0 338,000
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S 78,000 0 78,000
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dS2t e 1,711,570 1,720,660 29,090
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= 1,703,000 1,703,000 0
= 3,829,000 3,829,000 0
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124,000 0 124,000
124,000 0 124,000
(A E2EX)(U=SHE
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Dl 300,000 0 300,000
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s 420,000 0 420,000
| ) 420,000 0 420,000
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OISR A =2 a2t R 6 (M) 0 1,090,000 1,090,000
CEO=2HE XA 678,000 688,000 10,000
207 AN 190,000 200,000 210,000
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H & 0l & AHS B Ml A
0BEET F=Z 2 3 Luts|H A
A= 2e2EH=E= A 1 2atFAHL
M MERSIRLUYHAHRBE2C|(2SL 22 /23HH)
el 22| EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
ZotF At 141,994,239 140,248,424 1,745,815
= 83,363,690 82,778,135 585,555
z 300,000 300,000 0
2l 10,662,540 10,562,540 100,000
[ 47,668,009 46,607,749 1,060,260
HEZStFAMAFEE2C| (23D 22/ 25HH) 141,845,086 140, 156,864 1,688,222
= 83,363,690 82,778,135 585,555
z 300,000 300,000 0
pJ 10,662,540 10,562,540 100,000
< 47,518,856 46,516,189 1,002,667
ESHE=ZHI 98,715,390 97,608, 190 1,107,200
= 68,870,380 68,716,380 154,000
2l 3,502, 150 3,402,150 100,000
< 26,342,860 25,489,660 853,200
EXNE2IME S 9,593,500 9,143,500 450,000
403 AXIEHMSAH=0IH 9,593,500 9,143,500 450,000
01 AXESM A 22 9,593,500 9,143,500 450,000
O=XE=2eH 2
&3 9,593,500,000& 9,593,500 9,143,500 450,000
2+ 450,000 100,000 350,000
403 AXIEHMSA=0l1d 450,000 100,000 350,000
01 AXEHHM A =22 L 450,000 100,000 350,000
U=sti2s2Es & 450,000,000 450,000 100,000 350,000
HSTHZ HAD|BHAIE X ALY 554,600 387,400 167,200
= 452,000 298,000 154,000
< 102,600 89,400 13,200
403 X SHMSAH=01H 554,600 387,400 167,200
= 452,000 298,000 154,000
< 102,600 89,400 13,200
01 AXISHHA =2 £ 554,600 387,400 167,200
OHSHS A BEAIZ X2
& 554,600,000& 554,600 387,400 167,200
= 452,000 298,000 154,000
[ 102,600 89,400 13,200
HNSEHESIE =M =7HI (23 HE) 140,000 0 140,000
2l 100,000 0 100,000
< 40,000 0 40,000
403 TR M SAH=01H 140,000 0 140,000
pJ 100,000 0 100,000
< 40,000 0 40,000
01 AXSMA2EE 140,000 0 140,000
OXMSENEsE =M= (2 HE ) (S
gd) 140,000 0 140,000
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10
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) (Cre &2
224 - HE . O9(3D) - MRAY - BES O &kt I &y HImE=sT
Bl 100,000 0 100,000
= 40,000 0 40,000
e 2,438,542 2,079,020 359,522
= 1,415,055 1,138,500 276,555
p] 19,950 19,950 0
= 1,003,537 920,570 82,967
SENEESHEX N L 22 401,772 42,250 359,522
= 309,055 32,500 276,555
= R,717 9,750 82,967
CHHIS K20/ & 401,772 42,250 359,522
= 309,055 32,500 276,555
= R,717 9,750 82,967
01 XHXISHHIAI= 2 = 401,772 42,250 359,522
SHUEESHDLHH|(HYXN)
AR 401,772,000 401,772 42,250 359,522
2 309,055 32,500 276,555
= R,717 9,750 82,967
23X 1,601,782 1,470,282 221,500
= 614,160 459,160 155,000
= 1,077,622 1,011,122 66,500
RS WES TS EAHSHH 280,000 58,500 221,500
~ 200,000 45,000 155,000
= 80,000 13,500 66,500
308 XIXIEHAISOI& 280,000 58,500 221,500
= 200,000 45,000 155,000
= 80,000 13,500 66,500
S ENEES) 280,000 58,500 221,500
PHSINHESTSH LK (A
) 23 280,000,000 280,000 58,500 221,500
= 200,000 45,000 155,000
= 80,000 13,500 66,500
PSS (SIPA) (LB DIHE /X LA - HEX|) 57,593 0 57,593
HEXE 57,593 0 57,593
2DE X2 57,593 0 57,593
802 BHet2D|E 57,593 0 57,593
01 2DEX2eHa2 57,593 0 57,593
(2R NS EAIL 2 DE T2 H(22H) 36,514 0 36,514
(23S 2 A= DE R 2 UHFH (2044) (0]
X+ 5,923 0 5,923
O2 NS HESFH ARG 2 DB R 28t
oK (221) (01 XF) 14,484 0 14,484
CIHIHISAHDICI0fOFE DI 212 24 AR (224) (O
X+ 32 0 2
(2 3HTHRH HOFRI 2E2| AR (221) (01 KF) 281 0 281
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= DAEHE= A 2ZEHL
A AL S (2ot 22/ 24)
ot 2Foloetxy EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
225 86,570,544 85,828,599 741,945
= 11,730,000 11,680,000 50,000
2l 977,800 602,000 375,800
& 73,862,744 73,546,599 316,145
NN L S (2ot 2/ 240Y) 71,085,710 70,456,710 629,000
= 11,730,000 11,680,000 50,000
2l 627,800 252,000 375,800
= 58,727,910 58,524,710 203,200
2ZolTetRy 67,028,500 66,888,500 140,000
s 10,430,000 10,380,000 50,000
2l 252,000 252,000 0
& 56,346,500 56,256,500 90,000
SRS FEES B A 675,000 600,000 75,000
403 MXISHHSK=01H 675,000 600,000 75,000
01 REXIEHMIAt 2 2 2 675,000 600,000 75,000
OEES2ZHAEH NE -3 A 75,000 0 75,000
H2ZX S 2SS Lt S A2 200,000 200,000 0
as 200,000 200,000 0
308 AR SHMSOIE 200,000 0 200,000
= 200,000 0 200,000
01 XN BSELES 200,000 0 200,000
OHZ XS 2Z MBS Lo E S ESHA
aS5Y)(U=F) 200,000 0 200,000
z 200,000 0 200,000
403 MXIHHSH20IH 0 200,000 200,000
z 0 200,000 200,000
01 XIXISHX=2EE 0 200,000 200,000
OHZ NS 2Z AP S Lo E S E EHN
DSSY) (AN (A=) 0 200,000 200,000
s 0 200,000 200,000
dazgdsi(3Y) 65,000 0 65,000
= 50,000 0 50,000
= 15,000 0 15,000
308 ARIMSOIE 65,000 0 65,000
as 50,000 0 50,000
< 15,000 0 15,000
01 MASNBSEES 65,000 0 65,000
Os222ds(Fd) (oSS (g8d 65,000 0 65,000
z 50,000 0 50,000
< 15,000 0 15,000
Clot2r2 R 2tel 612,870 123,870 489,000
2l 375,800 0 375,800
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o= [l =27 S ==uo/uo

s HIDR2ZE X 2 EER=E)

AR RA - F - O(BIH) - NRAY - BES 0l Ao ol E o timE=FT
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< 54,450 0 54,450
403 MR HHMSAHE01H 199,450 0 199,450
Jl 145,000 0 145,000
[ 54,450 0 54,450
01 AXEMA2E = 199,450 0 199,450
LOorS H M HAIEIHE=X 199,450 0 199,450
) 145,000 0 145,000
< 54,450 0 54,450
OF et S = 2 X HALY 83,270 0 83,270
pJ 67,000 0 67,000
< 16,270 0 16,270
403 MR SHHMSAH=01H 83,270 0 83,270
2l 67,000 0 67,000
[ 16,270 0 16,270
01 AXISHHA 22 % 83,270 0 83,270
Lorg s et 8=t 2 X & 83,270 0 83,270
Jl 67,000 0 67,000
< 16,270 0 16,270
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< 22,500 0 22,500
308 XXM SOIA 97,500 0 97,500
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Il 75,000 0 75,000
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I B (2ot ot/ 2E) 9,198,380 9,098,380 100,000
2l 350,000 350,000 0
< 8,848,380 8,748,380 100,000
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H & 0l & AHSH H M A
NBEE £ 2 5] LB H
AR 2HTHS SN 2O
Za: HHRERVBOPILY (2L
o9l RBFOHY S CERE)
AZ - 2A - FB . OI(SH) - NRAY - BES 0 & ol o HIRE2
20D 14,963,831 14, 189,831 794,000
| 740,000 %,000 650,000
= 14,243,831 14,009,831 144,000
HHZSRI O (2L BT/ 22) 14,885,191 14,008,191 787,000
| 740,000 9,000 650,000
= 14,145,191 14,008,191 137,000
2O 3,142,200 2,880,200 262,000
| 400,000 0 400,000
= 2,742,200 2,880,200 A138,000
ANBFABN 542,000 800,000 £258,000
308 KXISHHI SOIH 542,000 800,000 £258,000
11 ZIISUHSB A E RIS AL 442,000 700,000 £258,000
BN AL HEI SR
A 42,000,002 42,000 300,000 £258,000
Sy e 520,000 0 520,000
| 400,000 0 400,000
= 120,000 0 120,000
308 XHXISHAISOI R 520,000 0 520,000
| 400,000 0 400,000
= 120,000 0 120,000
01 IXSHBARES 520,000 0 520,000
(=M &S8R E S 5HKI 520,000 0 520,000
| 400,000 0 400,000
< 120,000 0 120,000
EEEE I EESS 1,110,870 960,870 150,000
LHBBBINUIAKR(RIEET) 150,000 0 150,000
308 XHXISHAIS O/ = 150,000 0 150,000
01 RXISHBAZES 150,000 0 150,000
ORI A B 2HR O MBI AT AL 150,000 0 150,000
S EENET=E= 4,213,870 3,888,870 375,000
| 340,000 9,000 250,000
= 3,873,870 3,748,870 125,000
YLIAPZZYAE 375,000 0 375,000
| 250,000 0 250,000
< 125,000 0 125,000
201 YEr2Y| 125,000 0 125,000
| 125,000 0 125,000
03 EAL2 U 125,000 0 125,000
(= YLIACI S HZHAEDHE (S H) 125,000 0 125,000
| 125,000 0 125,000
301 YErEEI 150,000 0 150,000
| 75,000 0 75,000
= 75,000 0 75,000




2 SzATLHS= A 2AZ0BHIE

M MAHZSZ20BHE (232 22/ 2tE)

Rl SH2Z0PIE RN (SH9 H2)

A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
14 IIEt2 8= 150,000 0 150,000
OEUASS22AENL2L(HEH) 150,000 0 150,000
2l 75,000 0 75,000
75,000 0 75,000
308 XHXIEHHM SO 100,000 0 100,000
50,000 0 50,000
50,000 0 50,000
1 3J12sotetas gl 100,000 0 100,000
O&LIAZZXR 100,000 0 100,000
50,000 0 50,000
< 50,000 0 50,000
MM 2AZH(ZZ0AE ) (O1EHIIE} 98,640 91,640 7,000
2l 98,640 91,640 7,000
Jl=3H] 98,640 91,640 7,000
202 04l 39,200 32,200 7,000
01 =LH0i 39,200 32,200 7,000
OgS=204tl & 39,200,000 39,200 32,200 7,000
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N2RBEE A 2 5 UBks|H ®A
A= Z2EANES 2A @ Msds
I HSSTAMZY(SSALBL/HSK)
el MSAA (SH9 H2)
A 2A - B . HA(SH) - MIRAIY - ® Ofl kel | & A Hlns
HEXNS D 102,172,4% 103,685,054 ~1,512,558
bl 29,065,306 29,438,306 373,000
(= 73,107,190 74,246,748 A~ 1,139,558
HMEScadg(2std2/H=) 98,941,814 99,269,014 N327,200
bl 29,065,306 29,438,306 373,000
[ 69,876,508 69,830,708 45,800
HEXH 25,371,330 25,121,330 250,000
ARSEAI IRSAXH 7,848,330 7,598,330 250,000
307 QI2+0|& 4,248,330 4,098,330 150,000
05 QI2tRIE2 4,218,330 4,068,330 150,000
OcE2sE3I RS4RI
3 4,218,330,000& 4,218,330 4,068,330 150,000
308 XIXISHHISOIE 3,600,000 3,500,000 100,000
01 RXSHHBAEES 3,600,000 3,500,000 100,000
OAZE2sE3IIRs4R2
A& 3,600,000,0002 3,600,000 3,500,000 100,000
IS XA 6,353,015 6,953,015 600,000
bl 687,000 1,055,000 368,000
[= 5,666,015 5,898,015 232,000
XXISHHMSUHSIXIA 3,097,000 3,117,000 A20,000
308 XIXICHHISOIE 3,007,000 3,117,000 A20,000
01 RRSHBAEERS 3,007,000 3,117,000 A20,000
OIS AATE AU S N E K& (R H2) 0 20,000 A20,000
HIAZSHSUHIXA 1,530,000 1,400,000 130,000
308 XIXISHHISOIE 1,480,000 1,350,000 130,000
01 RXSHHBAEES 1,480,000 1,350,000 130,000
NI AESUSHSUHIHE XA
A& 1,130,000,0002 1,130,000 1,000,000 130,000
2HICHE X2 340,000 250,000 90,000
308 XXISHSOIA 340,000 250,000 90,000
01 AXSHHBAEES 340,000 250,000 90,000
(1202482 S 2N = XA 90,000 0 90,000
ZHUHI R (EX) 1,267,000 2,067,000 800,000
bl 687,000 1,055,000 368,000
(= 580,000 1,012,000 432,000
308 RIXISHHISOIE 1,267,000 2,067,000 800,000
7l 687,000 1,055,000 368,000
(= 580,000 1,012,000 432,000
01 MHXSHHBAEERS 1,267,000 2,067,000 800,000
(20232 P M SRS TSI HE XA (
oH2t) 800,000 800,000
bl 368,000 368,000
[ 432,000 432,000




D EEAENE= A H=sdEH
D HSSEANTE (R 2E/HS)
D U HS XA

AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T
ZOHRIMFKIA 5,995,610 5,972,810 22,800
| 1,401,948 1,406,948 25,000
S 4,593,662 4,565,862 27,800
SHOMME2IXA 3,938,440 3,858,640 79,800
307 212t01 & 3,938,440 3,858,640 79,800
02 QIZHAAAIEE X 2,992,000 2,932,000 60,000
O=Z 0 M =2l ArZ I X
2 & 2,992,000,000 2,992,000 2,932,000 60,000
03 BItHHHE2SHIE X 946,440 926,640 19,800
O ZM S22 X2
2 & 946,440,000 946,440 926,640 19,800
O M=SCHaI X & 64,000 116,000 A52,000
307 212t01& 64,000 116,000 A52,000
04 CIZFHAIAIE E & 64,000 116,000 252,000
O =s0RIMS USRI (M H2) 0 39,000 39,000
OMS=MEM O 0teHEU S &IOR3 (X X
Z) 0 13,000 13,000
SEHOIMSUSINE X (EX) 290,000 295,000 25,000
J| 24,000 29,000 25,000
= 266,000 266,000 0
307 212t01 & 290,000 295,000 A5,000
| 24,000 29,000 25,000
S 266,000 266,000 0
02 QIZHAAAH 2L 290,000 295,000 25,000
O=Z O M=HRI o= X2
& & 290,000,000 290,000 295,000 25,000
Pl 24,000 29,000 A5,000
= 266,000 266,000 0
HIMETNSUHSHLSHE (2L 2 /MF) 2,775,652 3,967,000 A1,191,348
MIMEHNSUHEEESIHE 2,775,652 3,967,000 A1,191,348
Ad=MEHSUHSAEHI2E 2,075,652 3,267,000 A1,191,348
201 ZEH2 & 1,765,083 2,804,000 A1,038,917
01 AFR2t2ltl 179,681 247,000 N67,319
[ et==H| 169,636 230,000 A60, 364
OMEMSUSHEUSIEHI(RMEHX)
2 & 13,865,000 13,865 35,000 A21,135
OHENSHEHIEZ (R MEIXI)
Z2E 126,250,000 126,250 150,000 N23,750
O34 S(RMHIXI)
2 & 457,000 457 5,000 A4,543
OJIALEAS (R MHIX)
2 & 3,880,000 3,880 7,000 A3,120
OMAE RS EA(EAMHIXI)
Z2& 3,713,000 3,713 5,500 A1,787




AR SZ2ARBHS2 A HSIESD
i MIMESHSUSELSIMNE (SSHLZZ/HK)
CHel: MZMEYKUSHLBIHE (e M)
A .24 - ZE .. AHA(FH) - HEAY - BHES 0ff &k2H Jl & o Hln=2
OCtM =L M & (2 MEIXI)
ZH 14,700,000 14,700 15,000 2300
OX2L2S(RMHEIXI)
A 6,771,000 6,771 12,500 N5,729
OYuxz 10,045 17,000 A\B,955
ORA=A2(2MEIX)
ZA 7,600,000 7,600 12,000 24,400
OARRIINLEINLXHEAHIXI)
ZHE 2,444,600 2,445 5,000 A2,555
02 2229H| 40,719 118,000 NAT7,281
(22222 AIH 40,719 118,000 NAT7,281
OSHBHLHUAIRZ (R AEIXI)
23X 37,718,500 37,719 100,000 AB2,281
OaMNEEHSS(EMEIKX) (HH2) 0 15,000 A 15,000
03 SAL2YH| 1,544,683 2,439,000 8,317
OMEHSHESEEZIK 587,106 890,000 A302,8%
OZIIZE2510|HE (S MEIXI)
23H 66,135,000 66,135 100,000 /33,865
OZH| A2 D3I SHE (R AHIXI)
ZH 9,877,000 9,877 20,000 210,123
OFEHIASLXI2Y (S MEHX)
23X 9,068,300 92,069 150,000 A57,931
OFEHIM LS (R MEIXI)
23A 21,600,000 21,600 45,000 A23,400
OB A SR & e S (2 A HIXI)
23X 39,487,380 39,488 45,000 N5,512
OZgAHMHR2Y (R Hmm)(ﬂw*) 0 10,000 210,000
OFAIESARAZIHIZEAT(REAMEKX
) 30“5; 120,032,640 120,033 150,000 A29,967
OBESLEYI MBS EUXH B AHKX)
23X 217,827,780 217,828 300,000 A82,172
OEESHES(EAMHIX)
Z2H 15,107,400 15,108 60,000 N4, 892
OUHBIEAXIZ2HI (B A EHIXI)
A 4,967,600 4,968 10,000 25,032
CHES A2 62,081 115,000 A52,919
OMHBIA 2L XK (S AHKX)
A 37,939,000 37,939 90,000 A52,061
OMHEIBI A= 22| 2 (S A EXI)
AR 24,141,500 24,142 25,000 858
OXZMEHSUHSEAIL 242 881,99 1,389,000 AB07,004
OSSP EUIHIAIH (S AHIN)
ZHE 169,505,630 169,506 200,000 A30,4%
OHSIHS RN (R AMEIXI)
ZA 1,365,000 1,365 4,000 A2,635
QusLFRr2el (EAHXI)
23X 25,081,500 25,082 35,000 29,918




AR 2HTHS =N HSTED
Hal: MRS SUEXSDHE (SSLRZ/H )
o9 MEMBHSUHEXSTIHE (cHol:ziel)
A2 2N - BB O9(E) - HISAY - BES il v ol o HlDE2
OE+SS+EXSNRA(LHHX)
A% 93,842, 5402 9,843 140,000 £46,157
OYAALSHZI (SAB)
2% 221,989,570% 221,990 350,000 A128,010
ORHHAIZ S LRI (S AHIXI)
A% 31,625,002 31,625 50,000 A18,375
OZIBELSSLX (SHEIX)
AT 71,474,602 71,475 77,000 75,525
OESUBZAHYLTI R (P A )
AT 27,216,660% 27,217 30,000 £2,783
OB NHLYAIAZ(LHEIXI)
A% 113,546, 7002 113,547 189,000 AT5,453
OZIIFL (S HEX)
A% 106,345,500 126,346 314,000 A 187,654
e+ RS (RAHIX ) (HAZ) 0 30,000 230,000
OSSR ZA LSRN TEHZXIH (2 A
HIX) A 13,500,000 13,500 15,000 A1,500
208 YL FTH| 7,923 15,000 AT7,077
NEEEEESS 7,923 15,000 AT7,077
DA FERLLETH| (LA HIX)
24 7,922, 7009 7,923 15,000 AT,077
207 AL 18,400 20,000 A1,600
02 ® AN 18,400 20,000 A1,600
(202842 HSUHEXHSHOIXPE(SAHX)
A 18,400,009 18,400 20,000 A1,600
401 AIEHI LS TH| 84,246 228,000 A143,754
04 BALZIRIAI AL 84,246 228,000 A143,754
OH2MASHEFAIL LT 84,246 228,000 A143,754
OFLIIHESALSLTI(RAEIX)
A% 84,245, 0402 84,246 100,000 A15,754
ONESYELEX (S HHX) (FHA) 0 128,000 A128,000
HH2S A (MSHE D) OIEHIIE 64,040 57,040 7,000
JEET] 64,040 57,040 7,000
Jl= 2| 64,040 57,040 7,000
202 01| 39,200 32,200 7,000
NETEE 39,200 32,200 7,000
O RER 0| A3 39,200,002 39,200 32,200 7,000
HHES B (YBHSHSHIIZ) OIEHIIEH 2,207 40,700 228,403
JEET] 12,297 40,700 228,403
Jl= 2| 12,207 40,700 228,403
201 Q2| 5,025 15,600 A10,575
01 AFR 22| 5,025 16,600 A10,575
WIS 1,497 6,000 £4,503
OMNSEEYLSZRUHI(SHEHX)
2% 1,4%,300% 1,497 6,000 24,503




A2 2o ABHS2 2N MSTED
[ BHSAAH(MEUSUEHIIZS)(JIEHIIED
&l D122 (CH9: &S1)
Ax - BA - 3 - SAAEA) - HRAY - BES Ol &kl I 3o Hns2
mEEL] 3,528 9,600 26,072
ONZMEHSUSTY ST SAHI(RA
HIXI) ZH 3,528,0002 3,528 9,600 26,072
202 04t 6,250 23,000 16,750
01 SLHOiHI 6,250 23,000 16,750
OIS SHEHLRFAH (RAH
) HH 6,249,550 6,250 23,000 16,750
203 AP FXH 1,022 2,100 1,078
M SASLLPFTL| 1,022 2,100 1,078
ORA2SAL ST (LAHX)
ZH 1,022,000 1,022 2,100 1,078
MPES(MSASD) (2L 2Y/NSK) 31,730 6,301 25,429
SHXE 31,730 6,301 25,429
EmES= 31,730 6,301 25,429
802 Het30|E 31,730 6.301 25,429
01 2DExZerez 31,730 6.301 25,429
OBBHSAIENZ4AI (01X
ZH 6,530,000 6,530 3,880 2,650
OO 2AMEHSUSIXIR (214) 2,779 0 2,779
MPES(MEXSUSEII) (S L22/HS) 346,963 344,999 1,964
RSN 346,963 344,999 1,964
EmLES= 346,963 344,999 1,964
802 HEt30|E 346,963 344,999 1,964
01 2DExZeraz 346,963 344,999 1,964
OF2ME AL AZ AL (202) (01 XH) 1,964 0 1,964




H & 0l & AHS B Ml A

AR 2B BBHS2 SN ARTAB
HE: CHBUSNSINE (2L Y/ 2L RTUL)
&t AEEA2AES EER=E)
AR RA - ZH - E9I(E) - HRMY - BYS ol ke 0l @ o Bl S
=M 21,830,662 20,969,537 861,125
= 433,425 328,500 104,925
[ 417,000 417,000 0
= 20,980,237 20,224,037 756,200
CARALSMIIEE (2L 2/ 25 2t A B 3,751,439 3,688,339 63,100
FEEMS2E 2,081,561 2,018,461 63,100
AN 2 785,000 760,000 25,000
405 KHoHF S| 725,000 700,000 25,000
02 =Ml 725,000 700,000 25,000
O=SAM7L(EMZII23) 25,000 0 25,000
SMEeIEtEY 464,800 426,700 38,100
201 =3 418,600 400,500 18,100
01 A2t 56,700 62,000 25,300
Lget~ZH| 38,400 40,000 A1,600
OBSEAS LA E2t
&3 18,400,000& 18,400 20,000 1,600
L et===H] 9,500 10,000 A500
OHAAHF=ZMIDDIHAHAMHI AR
&3 9,500,000& 9,500 10,000 A500
Oex= 8,800 12,000 A3,200
OZSXEYxt Z & 8,800,000 8,800 12,000 23,200
03 A2 I 360,400 337,000 23,400
O=ot=2=t0tuI0l2E
& 70,000,000 70,000 72,000 22,000
O=2AME 2 & 14,250,000 14,250 15,000 AT50
O=sAsoiel2g 2 & 3,000,000 3,000 5,000 A2,000
O-FESS2Es0tlet2d
&3 13,150,000& 13,150 15,000 A1,850
Ooel ol Ase A= 30,000 0 30,000
A1) 20,000 0 20,000
20,000 0 20,000
AMEES 20,000 0 20,000
Zalgh) 16,176,725 15,381,800 794,925
= 433,425 328,500 104,925
s 417,000 417,000 0
s 15,326,300 14,636,300 690,000
16,176,725 15,381,800 794,925
= 433,425 328,500 104,925
[ 417,000 417,000 0
= 15,326,300 14,636,300 690,000
14,891,000 14,201,000 690,000
403 X+XI SIS K 14,891,000 14,201,000 690,000
14,891,000 14,201,000 690,000




A HE= AN BREAS
EINEANG =2t 2t/ 25t 22 B
Es|gEdFa AR
A RA - B BRI(3H) - HRAY - BES il v ol H o CImE=E
23S
&&d 2,010,000,000& 2,010,000 1,320,000 690,000
NS E 104,925 0 104,925
= 104,925 0 104,925
403 AXIEMS 104,925 0 104,925
= 104,925 0 104,925
N 104,925 0 104,925
O33&A2 AT (gEH) 104,925 0 104,925
= 104,925 0 104,925
Y 2IAH(F= A2 (OIEHIIE 1,902,498 1,899,398 3,100
el 2| 1,783,170 1,780,070 3,100
el 24| 1,783,170 1,780,070 3,100
204 APt 53,680 50,580 3,100
02 MZE X 53,680 50,580 3,100
5= 2% 10,250,000 10,250 9,000 1,250
= d& 12,950,000 12,950 11,100 1,850




